50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 10CV63
Sixth Semester B.E. Degree Exammatlon,
Transportation Engmeermg -1
Time: 3 hrs. . Max. Marks:100
Note: 1. Answer any FI VE, [ull questions, selectmg
at least TWO quegtlons Jrom each part.., "

2. Missing da;ajf any may be suitably asgur’ned.

1 Draw a neat cross section of a: B .G. track in cutting for double line on a straight track and

_}Radlus of curve = 350 m

indicate the important dimensit ns. (06 Marks)
Define creep of rails. Explam the method of measurement of creep. (06 Marks)
Briefly explain the methods of welding of rails. Inalcate the suitability of each. (08 Marks)

(06 Marks)
’. Explain the

g
due to’ rulmg gradient of 1 in 100
What is'meant by “crib ballast™y
of ballast.

a curve of 4° is s,ltuated on the gradient, W% at  should be the a ‘”wable gradient? (06 Marks)
What is negatzve cant" For an unsymmetrlcal split, explam'the method of determining the
allowable speed on main track when:: eed on branch track is given. (06 Marks)
Find the Jength of transition curye onaB.G. track usmg the following data:

Maximum speed = 80 kmph b (

Cantt prov1ded 75 mm
Rate of'change of radial a

eration = 0.3fm/s3‘¢“a"
; (08 Marks)

Wlth the help of su1table dlagram(s) explain “Switch angle”, “heel divergence”, “throw of

switch” and ¢ crossmg number”.
Calculate the elements of a B.G.. tumout using the following data:
Number of ¢ crossing = 12

Heel divergence = 133 mm:
Switch angle = 1°8"
Show the elements on the« 1agram (06 Marks)
With a neat sketch, explain (i) turn table  (ii) shunting signal. (08 Marks)

(06 Marks)
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PART-B

components
What is wind rose? With the diagram of any one t(ype,__ f wind rose, explain the method of
getting the best orientation for runway. (06 Marks)

that affect the planning and design of
(08 Marks)

airports.

Briefly explain the various runway ge m‘@%ws as per ICAD. (06 Marks)
Design an exit taxiway which Joms% Jrunway and a main 4rallel taxiway. Total angle of

turn = 40°, turn off speed = 65, k% £ (06 Marks)
Define basic runway length, Xplaln the various corrections/(with equations) to be applied
for the basic runway length R’ (08 Marks)
What are the advantaé’%’s» ‘and disadvantages of tunnei}fs'7 (06 Marks)

The centre line of W’unnel is represented by two plumb lmes C and D, 4 m apart, hangmg
vertically on a“llaﬁf
set up undergreund at a point A, dlstant

(06 Marks)
(08 Marks)

(06 Marks)
(06 Marks)
(08 Marks)




